H = 0ol & AFS A A
SA D= A
I XN L FOISAALS
SRl RAM K|S RFAAIL NIAF (T X XHR A KAL) (CH9: &S1)
M- - SA(3) - MRAY - BES (17| Pt e N3 A Hwsz2
12 0l Ak AL 27,007,255 24,150,827 2,856,428
XS L FoI=AAL 15,049,918 15,298,918 249,000
AT XIS XHE AL HIAFY (2 & XIS XHR A HIAR) 15,049,918 15,298,918 249,000
AT L MACHT] TEAY 0 102,000 A102,000
201 Lt29Y| 0 2,000 A2,000
01 Al22t2IHI 0 2,000 A2,000
OB AE2Y TN AA = 0 2,000 A2,000
207 HARIHELH] 0 100,000 100,000
01 ¢1pEAY| 0 100,000 100,000
O 2LA MACHK X4 J|2HE L E}
g4 ZAt H72E24Y 0 100,000 100,000
HY SLA OkMEH MEISR =M 2,664,169 2,611,169 53,000
401 Al HI 2 2] 2,664,169 2,611,169 53,000
01 A& 2,585,640 2,541,640 44,000
OS2A O3 MENHIESISE 2HSXHH(
R QU LHLigE A AR BHAR 44,000 0 44,000
02 22/l 78,529 69,529 9,000
OA=A2(H BUE 9,000 0 9,000
AHE 22 HE2 T4 0 200,000 200,000
401 Al HI LY 0 200,000 200,000
02 22/l 0 200,000 200,000
OMAE 22 MU X4 222Y 0 200,000 200,000
WEER 2= 2 NSHE XY 1,823,698 1,905,909 ~82,211
W2 L NS XA(REXIAXRAILANAIZ) 1,823,698 1,905,909 A82,211
w2 X 970,551 999, 173 N28,622
308 AFXICHHISOIH 970,551 999, 173 N28,622
08 WSI 202 = 970,551 999,173 N28,622
OJ308 90 EXuAL 29
(465,551,0009 )J+(224H[5,000,0002 x 14 A )
470,551 499,173 N28,622
StAl n=edl X 129,769 130,369 AB00
301 LErE XS 1,500 2,100 AB00
14 JIEtE A 1,500 2,100 AB00
OF - DS AlM n=Y X (2Ast
) 300,000 52 1,500 2,100 AB00
oflbI bl 0 52,989 A52,989
801 OflbIHl 0 52,989 A52,989
01 LBHoiIHIHI 0 52,989 A52,989
OolHIHI 0 52,989 A52,989
THRES (D20 At) 7,053,639 3,866,000 3,187,639
HEHHKIS (B RIS KA MA) 7,053,639 3,866,000 3,187,639
UB5|H M= 3,187,639 0 3,187,639
701 JIEFRIHSEES 3,187,639 0 3,187,639
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JIEOfl &t
MHeas (12 oaal
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LHEHA KIS (AT XS THAAIEHALS)

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
01 JIEt=I AN ES 3,187,639 3,187,639
Ogets|l dE= 3,187,639

3,187,639




